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QUESTION 1

Which are the two ways in which Milestones differ from Agents? (Choose two.) 

A. Milestones may be made up of one or more Agents. 

B. Milestones monitor for a condition to occur, whereas Agents only start and stop based on a time-based schedule. 

C. Milestones may be both "reactive" (for example, they monitor for a condition to occur) and "proactive" (for example,
they can initiate before, at, or a prescribed number of times after a condition occurs). 

D. Agents monitor for a condition to occur, whereas Monitors only start and stop based on a time-based schedule. 

E. Agents may be made up of one or more Milestones. 

Correct Answer: AC 

 

QUESTION 2

What must you do in order to export data from the CONTACT table, so that the data only includes contacts with email
addresses ending with "@oracle.com"? 

A. The CSV utility is useful for managing large amounts of data, but it is not capable of filtering data during the export
process. 

B. Export the data first, and then use software such as MS Excel, MS Access, or direct SQL to filter the data. 

C. Use the "Where" clause on the CSV Export screen to specify the "@oracle.com" qualifier. 

D. Create a CSVUTIL file that specifies the "@oracle.com" qualifier. 

Correct Answer: B 

 

QUESTION 3

When reviewing Invoices in the OTM Payment Invoice Manager, you have the option of selecting the "Pass Through"
checkbox. 

Identify the correct statement about what the "Pass Through" checkbox does. 

A. It allows for more shipment cost lines to be added to the associated shipment. 

B. It allows for more invoice amounts to be allocated to the invoice. 

C. It allows the invoice to be paid without consideration for any invoice matching rules. 

D. It allows for the invoices from other shipments to be consolidated onto this invoice. 

Correct Answer: D 
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QUESTION 4

Identify the incorrect option about the commodity setup. 

A. Incompatible commodities can be captured while defining a commodity. 

B. Specific temperature controls cannot be assigned while defining a commodity. 

C. You can select transportation modes while defining a commodity. 

D. You can link commodity with equipment types while defining a new commodity. 

Correct Answer: B 

 

QUESTION 5

In which two of the following cases is it useful to use the "Show Routing Options" shipment planning method? (Choose
two.) 

A. when you want to view OTM\\'s recommendation without actually planning the shipment 

B. when you want to override the delivery constraints on the Order Base 

C. when you want to auto-tender the shipment after planning is complete 

D. when you want to specify the carrier that you want to receive the shipment tender 

E. when you want to specify the itinerary that you want to use for the shipment 

Correct Answer: BC 

 

QUESTION 6

If you have just installed OTM, which domain would not be created by default? 

A. MASTER 

B. SERVPROV 

C. GUEST 

D. BLUEPRINT 

E. STAGE 

Correct Answer: A 

 

QUESTION 7

Which three statements are true about Regions in Global Trade Management (GTM)? (Choose three.) 
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A. Regions created in the UI need to be formulated. 

B. Regions can be directly used after being created by a user in the UI. 

C. Regions cannot be directly used after being uploaded by a CSV file. 

D. Regions uploaded by a CSV file need to be formulated. 

E. Regions can be directly used after being uploaded by a CSV file. 

Correct Answer: ADE 

 

QUESTION 8

Which two statements are true about authority configuration in Global Trade Management (GTM)? (Choose two.) 

A. Authority configuration involves defining the Authority ID, Name, and Description. 

B. There can be only one authority defined for a domain in GTM. 

C. An authority has to be defined in the PUBLIC domain. 

D. Authorities are regulatory agencies, such as the US Bureau of Industry and Security. 

E. An authority has to be linked to a region by using region configuration. 

Correct Answer: AD 

 

QUESTION 9

Select the three correct statements regarding Freight Settlement in OTM. (Choose three.) 

A. Invoice checks may be printed out of OTM. 

B. Rules for matching, approval, and allocation are the cornerstones of automation in Freight Settlement. 

C. Freight Invoices may be created within OTM or interfaced from an external system. 

D. Invoices in OTM must be tied to a shipment. 

E. Freight Settlement in OTM may be used to pay invoices to carriers as well as bill customers for freight. 

Correct Answer: ACE 

 

QUESTION 10

Identify the incorrect option pertaining to TiHi. 

A. This configuration captures the number of layers of boxes/cartons that can be stacked on the pallet. 

B. This is configured in Item Setup. 
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C. This configuration captures the number of boxes/cartons stored on a layer. 

D. This configuration will impact mixed pallet functionality. 

Correct Answer: A 
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